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Question I, choose the correct answer. (4 points each)

1.1. The solution of the simultaneous equations {Bx —2y _= > is
4x -y =10
a. (-3,22)

b. (-3,-22)
c. (3,3) _
d. (3,2)
1.2. The corﬁplete factorized form of x® —y®is
a(xt +y%) .(x* —yh)
b. (x* +¥*). (x* +y*)(x +)
c..(x* —yH).(x* + y?) (x+y)lx-y)

d..(x* + y*). (x2 + y?) (x+y)(x-y)

1.3. If A(x-1) + B(x+1) = 3x +5 for all values of then the values of A and B are

a.A= 2 ,B=-2
b.A= 1 ,B=4
c.A= -1 ,B=4

dA= 1 B=-1

1.4. 9p* = %pz is equal to
a.6p*

b.3

c.6

d.3p*
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1.5. Iflog y = -2 theny is equal to
a.-100
b.0.01
c.0.1

d.-0.01
1.6.If —3—13—:2i2th ngzise al to
6.1fy =———, then— qu
a.6x-2
b. 9% — 4x + —
x
c.9x2—4x-—13
x

d.2—-6x

1.7 A regular polygon has each interior angle greater by 60° than each exterior angle. It therefore has
a. 6 sides
b. 4 sides
c.7 sides

d. 8 sides

1.8.. Which of the following is not true In fig below if AD = DE = EB.

a.As ADC and CED are equal in area.

b. A BCD has twice the area of AADC

c. AABC has three times the area of A ACD

d. none of the above.
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1.9. In the fig below ABCD is a parallelogram and CF = EF, hence

D (%

a. BC=BE=AB

b. AD=AE -

c. area ABCD = area AFE

d. area ABCD =2 x area ABE

1.10. A regular five sided figure is inscribed in a.circle .The angle subtended at the circumference by the
figure is

a.72°
b. 36°
c.54°

d.108°

1.11. In the fig below the expressior‘ll for the side RN is
a.5cos 30 + 3 sin 60
b. 5 sin 30 + 3 cos 60

c. 5cos 30+ 3 cos 60

d.5 sin 30 + 3 sin 60

N

1.12 .In the fig below, given < B and sides a & c the side b is given by the expressions.

_sinA

b T

b..b%=a? +c? + 2ac cos B

Cc

C c. b _asinB

Qa ' " sinA

d. b* = a* +¢* — 2ac cos B
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1.13 A man standing on top of a cliff 80 m high is in line with buoys whose angle of depression are 15°
and 20° .The distance between the buoys is given by the expression

80( tan 20° - tan 15°)
80

tan 209-tan 15°

80 tan 5°

80( tan 75° — tan 70°%)

o ®

a o

1.14. Which of the following is not measures of a side of a right angled triangle?
a.345 |
b.5,12,13.
c.6,8,10

d.5,7,9

1.15.1f cos A=12/13 thensinAis

a.1l
b. 13/12
c.5/12
d.5/13
Question 2
.-
2.1. Find the area between the straight line y = 12 + 3x and the curve y =2x2 + 3
( 5 points)
2.3 Find the solution set of system of simultaneous equation. ( 5 points)
xX2+y* =34
xy= 13
Question 3
3.1. Find the solution of exponential equation ( 5 points)

2)* =64
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3.2. Find the solution set of logarithmic equation. ( 5 points)

log,®? =2 logy*

Question 4

4.1 Evaluate [ (x?+2) dx
‘ ( 5 points)

4.2 The tangent at point C on a circle meets the diameter AB produced at T. If <BCT =27°,
2_2
Calculate < CTA. If CT =t and BT = x, Prove that the radius of the circle is rx

T

( S points)
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